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Multiplication with Helper Grid Name:
Solve each problem. Answers
1) 2)
5 2 1.
x 7 2 2 8
8 2
2,
+
+
3.
4.
5.
3) 4)
9 5 6 5 6.
x 4 5 5 6
7.
+ +
8.
5) 6)
6 5 5 7
x 3 9 8 3
+ +
7) 8) 5 1
9 3 5 9
X 6 2
+
+
1-8 [88]75]63]50]38|25[13] 0 |
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Answer Key

Name:

Multiplication with Helper Grid

o
n [ |
o J| 8 2| 2 8 = 8 K o
(@)] N~ < ™ o™ O o™ —
Sl N~ N| N| ©| bl M~ N~ N 9
2 o N S| o | < o o
[90]
< S|
o
i N o < 0 S N S 3
[Te)
N
Q
(o)
@
—
o njo oo o olo olo ~om|d o4 - o|lo olo
o-d N o|ln <o ~wmo wlo uls waw oo~ olm N wwlo ow|lm
X 1 N x| oo x| o]~ x|+ ola
e m|m < | < | —
+ + + +
N S © © =
o
(@]
3
5
Q
c
(@]
e
s
o
&)
m N AN o O wlw o|w o o|w o|wn m njo oo
w157044 ~ono S|~ o~ < © m|lo ow|m - o ol mo]|o
S x|—= o]~ x|<t ool x|w olov x|—= ]~ <
e @©
% m|m o< — | 0w S
) + + + +
=
8 = ™ 1) <



|

Multiplication with Helper Grid

Name:

Solve each problem.
1)

8 4
x 3 0
+
3)
4 7
x 1 9
+
5)
3 8
x 2 0
+
7 7 4
x 2 1
+
Math

2)
6 5
x 2 2
+
4)
7 6
x 8 9
+
6) 8 4
x 1 1
+
8)
8 6
x 2 0
+

Answers

www.CommonCoreSheets.com 2
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ﬂé Multiplication with Hel per Grid Name. Answer Key

Solve each problem. Answers
1) 1 2) -
8 4 5 & 1 2,520
x 3 0
x 2 2
0 5 1,430
+ 2 5/20 1130
+ 1/ 3/0 0
2520 —T2T3Ts 3 893
4 6,764
5, 760
3) 6 4) ;‘
4 7 7 6 6. 924
x 1 9
x 8 9
4123 T ;1554
+4/70
593 H°,91819 1,720
676 4 8 :
5) L 6) 8 4
3 8 x 1 1
x 2 0 8 4
0
+ 840
+ 7,60 S 2 2
7160
7 7 4 8) ; .
x 2 1 < 2 0
7 4 5
*1j4/8)0 +J1]7]/200
1/5/5 4 1720
1-8 [88]75]63]50]38|25[13] 0 |
Math www.CommonCoreSheets.com 2
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Multiplication with Helper Grid

Name:

Solve each problem.
1)

3)

5)

7)

Math

2) 4 0
x 5 0
+
4)
1 8
x 6 1
+
6)
2 5
x 3 1
+
8)
3 6
x 8 3
+

Answers

www.CommonCoreSheets.com 3
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ﬂg Multiplication with Hel per Grid Name. Answer Key

Solve each problem. Answers
1) 3 2)
4 0
2
s x 5 0 1 5,550
x 7 4 0
3/0/0 +2/0/ 00 2 2,000
+ 5250 2,000
_RREEG 3 1,725
4 1,098
5, 1,183
3) 3 4) 4
e 1 8 6. 775
< 6 9 x 6 1
>To Tz 18 7 4,590
+ 1 5/ 00 *110/8'9
1 0,9 8
11725 8. 2,988
x 13 x 3 1
2. 73 > 15
*91119 + 7/ 5/0
11/8 3 T Ts
7 9 0o 8) ‘
x 5 1 3 6
9|0 x 8 3
+ 4 5 0|0 1 0 8
4,590 + 2, 8/8 0
2/9,8 8
1-8 |88]75]63]|50|38[25]13] 0 |
Math www.CommonCoreSheets.com 3
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Multiplication with Helper Grid Name:
Solve each problem. Answers
1) 2)
6 6 2 4 L
x 8 4 x 8 9
2,
+ +
3.
4.
5.
3) 5 0 4)
x 4 8 y g I 6.
+ 7.
+
8.
5) 6) 30
7 7 x 1 1
x 2 1
+
+
7) 3 0 8)
x 3 6 1 6
x 3 8
+
+
1-8 [88]75]63]50]38|25[13] 0 |
Math www.CommonCoreSheets.com 4
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Multiplication with Helper Grid Name:
Solve each problem. Answers
1) 2)
9 6 6 6 L
x 8 4 9 2
2,
+ +
3.
4.
5.
3) %) 1
6 4 x 3 6.
x 8 6
+ 7.
+
8.
5) 5 1 6)
x 1 2 4 6
2 5
+
+
7) 8)
9 8 2
x 5 1 6
+ +
1-8 [88]75]63]50]38|25[13] 0 |
Math www.CommonCoreSheets.com 5



1)

3)

5)

7)
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Multiplication with Helper Grid Name:
Solve each problem. Answers
1) 2)
7 5 1
8 9 x 2 1
x 3 8
2,
+
+
3.
4.
5.
3) 3 1 4)
x 2 9 8 4 6.
x 7 7
+ 7.
+
8.
5) 6)
6 2
1 7 x 7 1
x 7 3
+
+
7) 8)
6 5 9 6
x 6 5 x 5 8
+ +
1-8 [88]75]63]50]38|25[13] 0 |
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Multiplication with Helper Grid Name:
Solve each problem. Answers
1) 2) 70
1 2 x 9 3 L
x 9 9
+ 2,
+
3.
4.
5.
3) 4) 5 4
6 2 x 2 2 6.
x 4 8
+ 7.
+
8.
5) 6)
1 9 8 5
x 3 2 x 3 9
+ +
7) 6 1 8)
x 1 3 4 6
x 8 7
+
+
1-8 [88]75]63]50]38|25[13] 0 |
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Multiplication with Helper Grid Name:
Solve each problem. Answers
1) 2)
2 8 6 7 L
x 4 6 39
2,
+ +
3.
4.
5.
3) 9 1 4)
4 5
+ 7.
+
8.
5) 6) 3 0
9 2 5 5
x 6 1
+
+
7) 8)
9 8 4 2
x 3 9 7 6
+ +
1-8 [88]75]63]50]38|25[13] 0 |
Math www.CommonCoreSheets.com 8
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7)
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Multiplication with Helper Grid

Name:

Solve each problem.

Answers

1) 2)
3 3 5 9 1
x 7 1 x 7 1
2.
+ +
3.
4.
5.
3) 4) 5 0
9 5 x 6 2 6.
x 4 4
+ 7.
+
8.
5) 6)
2 7 5 8
x 2 6 x 9 3
+ +
7) 8)
5 2 1 3
x 2 5 6 2
+ +
1-8 [88]75]63]50]38|25[13] 0 |
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Solve each problem.

1)

3)

5)

7)

Multiplication with Helper Grid

Name:

Math

Answers
2)
7 8 1
x 5 0
2,
+
3.
4.
5.
4)
7 4 6
x 3 8
7.
+
8.
6) 11
x 4 9
+
8)
6 6
x 4 6
+
10 1-8 [88]75]63]50]38|25[13] 0 |
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Multiplication with Helper Grid Name Answer Key
Solve each problem. Answers
1) 2) 4
7 1
. 3 7 7 8 L 2,627
4197 x 5 0
0
+2 1 30 J3TeTol o 2. 3,900
2 . 627
3/9/0/0 3 4,615
4 2,812
5 3,854
3) 4) L
7 1 3
3 5 5 x 3 8
+4 260 5/ 92 £ 1,8%0
4. 6/1 5 + 2 2 2 0
> T8 112 8 3,036
5) 4 1 6) 11
x 9 4 x 4 9
1 64 9 9
+3/6/9 0 + 440
3/8 54 539
7 9 0o 8) :
x 2 1 6 6
90 x 4 6
+1,8 0 0 3 9 6
1 8/9/0 +2 6 4 0
3.0 3 6
1-8 |88]75]63]|50|38[25]13] 0 |
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